Al = 0l & AFE B Al A

20249 =0ia ke D=3

S JlsXE
B S0 2EB(SHLS/ 5D - 5E)
ool DEE AYRS M |23 (Croy: 7121
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
Jl=X31 8,917,912 8,699,913 217,999
= 1,094,920
Jl 6,860
& 1,217,180
Al 6,598,952
ssES(sgidsi/se - s&) 1,183,649 1,622,053 A\438,404
= 190,320
Jl 6,860
& 37,500
Al 948,969
AEE AENE dit J|sEs 1,183,649 1,622,053 A\438,404
= 190,320
7l 6,860
= 37,500
Al 948,969
NSE Mg 2o 214,683 205,018 9,665
101 el21d| 4,733 4,618 115
04 D122 XNSE 4,733 4,618 115
ORAE JIZAS MU4T 29 oz
78, 880%1+124-602) 4,738
201 Let23| 5,800 8,100 22,300
01 Al 22| 3,300 8,100 24,800
OYD o= 228 S50 A
50,0002 x1071*23] 1,000
OMBRS20F Al 1248 TR
500,000 «2IH 4 1,000
OsX= Hoigs 2H & 82X MH
5002 *2,000% 1,000
OSEXTAY B2 HX 72
30,0002 10 300
02 S324H| 2,500 0 2,500
OJ|42 =8l 28 WM & =2l
2,500,000 1CH 2,500
206 XH=Hl 50,400 50,500 A100
01 MZH 50,400 50,500 A100
O AE MM 24 HE 7Y
600, 0002 *60ha 36,000
OSME ZX ZAE 4 W2 2
3,000,000&*2ha 6,000
ORAE Jl=AS MAT X8 2 2
5,000,000 112 5,000
OLSE H X Asu@ MEHA =4 Mz 728
850,000& *4ha 3,400
207 AR 8,000 3,000 5,000
03 AlZ &1 8,000 3,000 5,000




SA: JIEXYD
HI: s)|aES(sHMLSM 5 - 5&)
SR NEE A2 MM D=2 (che]: X Sl)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
OAIZASE0F AISAIE
2,000,000 *4%=2 8,000
301 LBIEAS3 102,000 103,800 1,800
14 J|EtR A2 102,000 102,000 0
OSAEY MAEH] 01 &e2iZ
1,5002%20kg*3, 000 90,000
ORAE X SAE 20 243
2,00094+20kg*300 5 12,000
402 QIZFXHE0IE 43,750 35,000 8,750
NIEED N EEESED 43,750 35,000 8,750
OLS2 B2 S2TAD| Tl AIM(BXS 70%)
1,500,000 *3nha*57 A*70/100 15,750
OSME) HES AIH(EXS 70%)
40,000,0002 % 174 A*70/100 28,000
ESAHA 29 28,368 56,930 A28,562
101 Q14| 19,168 20,010 ABA2
04 JIAH2Z2XSES 19,168 20,010 NB42
OF&2FA 292X 012
78,8802 x14%2432 19,168
201 LB 9,200 12,620 3,420
01 AlR2:2|H| 3,200 4,620 AT1,420
OHYEZEEEH 2 900,000 *23] 1,800
OS4AHLATH| 242
100,000 x4 13| 400
OZEHI| EH e 200,000 %374 600
OAMREE 72 10,0002 *20Z+23) 400
02 2229 6,000 8,000 A2,000
OZ&2AFA X 22|
2,000,000 %14 = 2,000
O=2AFH| S22/
200,000 50433 3,000
OZ&2FA HiZ HEH2IH|
1,000,000 %13 1,000
A 0N IS 29 384,838 337,356 47,482
101 Q14| 41,018 40,020 998
04 2RISR 41,018 40,020 998
OZISA0IME HILHH 2HEX 01
78,880 21+ x2602 41,018
201 LB 71,820 78,636 6,816
01 AlR2t2IH] 5,000 7,800 A2,800
O0IME 0|ZOHHA 2I=Za HI=
1,000242,0005 2,000
OXNsS23EI 52 9t Y
12,0002 200 2,400
O=AIEXI(MEX]) 7
20,00021%10EtA 200




SA: JIEX|AD
HY: S)|EES(SHHYTN/ Y - 55)
ol NEE ASAZ MM J|IsEZ (Ctol: ®M2l)
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
OMNFEZ +¥ 10,0002 % 10Z*43] 400
02 SZ=2gH| 66,820 70,836 74,016
OX&A 0142 HHLME K122/l
1,500,00024*1)HS 1,500
o042 ZazeIRY S22
1000002 *10CH*23 2,000
OIS FHIAIAL QX2
2,000,00024*7CH 14,000
OMIg= 4,000,0002* 12012 48,000
OQIES! Al2R3 30,0002 * 12042 360
045 25| 80,0002 * 1201 960
206 THZHI 204,000 164,000 40,000
01 M=t 204,000 164,000 40,000
OUlMES HHE HX 2L
800,00024%2503] 200,000
ODIME B2 AEIIX 2L
200,000 x55+43] 4,000
207 HARIHELH] 68,000 54,000 14,000
FEEEE] 68,000 54,000 14,000
OUIME ASAIE X 2
800,000 503 40,000
OZIMA < HHHHY HE 7Y
200,00021%75+103] 14,000
ORE: 2 F4+=8 W27
200,00021+7Z+103] 14,000
(D)LY 2NN (ELHE) 27,000 29,000 A2,000
=2 6,750
Al 20,250
101 Q124 13,200 14,800 1,600
=2 3,300
Al 9,900
04 JIZtRI22USES 13,200 14,800 1,600
OELAZHE o2
2,200,00021%12+62 13,200
2 3,300
Al 9,900
206 THZHI 13,800 14,200 400
2 3,450
Al 10,350
01 X2l 13,800 14,200 2400
OEYZAN ADE o Al 2
13,800,000@4 %1 4] 13,800
=2 3,450
Al 10,350
() =YsEZASTIFXEIIZ 6,860 6,849 11




A JIEXD
H: =B (SUNLLA/ 5 - 5E)
Ctel: DEX AYEZ2 MA J|223 (ciol: ®2l)
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
D] 6,860
206 M=t 6,860 6,849 11
7| 6,860
01 H2HI 6.860 6,849 11
OELZE Mz 72 6,860,000 x1A! 6,860
p) 6,860
(2)sXH2S HillE HZZ XA 29 X 18,000 18,000 0
= 5,400
Al 12,600
101 Q12| 1,600 0 1,600
= 480
Al 1,120
04 JIH2Z2XEES 1,600 0 1,600
OHHE tzE 2% o1
1,600,000+ 1H 1,600
= 480
Al 1,120
206 M2t 7,400 4,000 3,400
= 2,220
Al 5,180
01 H2HI 7,400 4,000 3,400
OYoHE Xctal 2 oIRZ 29 W2
7,400,00024% 14! 7,400
= 2,220
Al 5,180
401 AlEHIL 20| 4,000 12,000 8,000
= 1,200
Al 2,800
01 Al&H| 4,000 12,000 8,000
OYaHE Zctal 2 HIRT Al 2%
4,000,00024%14! 4,000
= 1,200
Al 2,800
405 KHAHE S 5,000 2,000 3,000
= 1,500
Al 3,500
01 AU S EF SH 5,000 2,000 3,000
OYlE ®ictal 9 HEE 29 2 7Y
5,000,000 % 14! 5,000
= 1,500
Al 3,500
(2)sH2S Hils 222 29 X 3,900 3,900 0
= 1,170
Al 2,730




© JIE=RIRA
D =022
. [N =]

ul

£2I(SYHLPL/ 5 - 55)
AN M JIBRZ

-~

f

L USE A (Ctol:®2l)
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
206 =4I 3,900 3,900 0
= 1,170
Al 2,730
01 M=l 3,900 3,900 0
Ogolls 22 2G(H, 1F, A
300,000 * 1301 2 3,900
= 1,170
Al 2,730
(D)sDeDIsAE (A Dl 4% JI=) 100,000 0 100,000
= 50,000
Al 50,000
402 CIZHRHE0|N 100,000 0 100,000
= 50,000
Al 50,000
02 CIZEXI= AL B (0| M THS) 100,000 0 100,000
OZY=sY I8t D-2 A=2H 22 AlY
100,000, 00024 %1IH A 100,000
= 50,000
Al 50,000
(D)=L (SSSHNITEII=RIZAY) 170,000 0 170,000
= 85,000
Al 85,000
402 CIZHRHE0|A 170,000 0 170,000
= 85,000
Al 85,000
02 CIZEXI= AL B (0| M THS) 170,000 0 170,000
OMEA AMSEZ THiDI= S ZHAY
170,000,000 *1JH 2 170,000
= 85,000
Al 85,000
(=) E=sRA2E M X 105,000 0 105,000
= 42,000
Al 63,000
101 l24y| 20,600 0 20,600
= 8,240
Al 12,360
04 JIZHHI2Z2 XS ES 20,600 0 20,600
OYsRAS T o1y
10,300, 0002 2 20,600
= 8,240
Al 12,360
201 L2 3F| 84,400 0 84,400
= 33,760
Al 50,640




k

I

I

SA: JIEX
HI: s)|aES(sHMLSM 5 - 5&)
CHel: DEE MBS MM JIE2E3 (cheyl:
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
01 AF22t2IHI 84,400 0 84,400
OYs=2A2 I X8 2
80,000,000 x14! 80,000
= 32,000
Al 48,000
029 ¥ 222 7Y
4,400,000 % 14| 4,400
= 1,760
Al 2,640
(E)=Z2 8illE oE 2 29 30,000 30,000 0
[ 9,000
Al 21,000
101 Q124 22,000 16,800 5,200
[ 6,600
Al 15,400
04 2RISR 22,000 16,800 5,200
Osze Hils SAe 298X
22,000,000 x 14! 22,000
[ 6,600
Al 15,400
201 LB 2,000 4,500 A2,500
[ 600
Al 1,400
01 AF222IHI 2,000 4,500 A2,500
OS2 gl olE g 112 2
,000,0002%1A! 2,000
[ 600
Al 1,400
202 O4H| 2,500 2,000 500
[ 750
Al 1,750
NENCED 2,500 2,000 500
OYals OlZ L WS ot
2,500,000 % 14! 2,500
[ 750
Al 1,750
206 MH=Hl 3,500 6,700 A3,200
[ 1,050
Al 2,450
01 M2HI 3,500 6,700 A3,200
O==2 dilE olE gH e 2
3,500,000 * 14! 3,500
[ 1,050
Al 2,450




SA: JIEsXAn

T ggj:;za(ggmﬁ&/g% s&)

Rl USE AgNE A Jls2Eg (St M 2l)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
(DSR2 23 Zol= =82 Ad 20,000 0 20,000

= 6,000
Al 14,000
401 AIZHIZ= R 20,000 0 20,000
= 6,000
Al 14,000
01 AIZH] 20,000 0 20,000
SX2 AT YHE LA
20,000,000 14! 20,000
= 6,000
Al 14,000
BEEEEREFEESES 70,000 70,000 0
= 21,000
Al 49,000
402 BIRINI=0I A 70,000 70,000 0
= 21,000
Al 49,000
02 QIRIH=AIZ 2 (01T THR) 70,000 70,000 0
O S UES B K L MEL BX S8 A
100,000, 000 * 1§ 2+70% 70,000
= 21,000
Al 49,000
(5)siES SIS TS RS0PHD| 5,000 0 5,000
= 1,500
Al 3,500
201 Leredt| 2,000 0 2,000
= 600
Al 1,400
01 ArR22lb] 2,000 0 2,000
OuM M= 2,000,000 %1 Al 2,000
= 600
Al 1,400
301 LerEEI 3,000 0 3,000
= 90
Al 2,100
TEETES 1,000 0 1,000
ODMSH AlYY L 2+AlH|
1,000, 0008!%14! 1,000
= 300
Al 700
14 JIEH2 A 2,000 0 2,000
OAteg 2,000,000 14! 2,000
= 600




S JlEXen
HI: s)|aES(sHMLSM 5 - 5&)
ol DSE AERE AU JlsEs CEREERD
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
| | | Al 1,400
Sl (sSHHLIA/ =S - =F) 753,744 432,753 320,991
[ 193,000
Al 560,744
NEEEPIESES 726,689 405,698 320,991
[ 193,000
Al 533,689
o1, AIE, ASAY 206,461 240,784 A34,323
101 Q124H] 64,683 63,109 1,574
04 22T EE 2 64,683 63,109 1,574
OS2, A8, AZSAIY = ol 64,683
=N EIN
78,88021+3% 1202 28,397
— et s Al
78,8802 %2280 12,621
—AZAIBE L DRl
78,8802 x2H*70L 11,044
SUOEE THHHAIE & 2t
78,8802 x2H*80L 12,621
201 LB 39,753 20,650 19,103
01 AF222IHI 2,560 2,560 0
O¢, A8, A= & 1,200
—aHE 20,0002+20% 400
—SHEE 50,0002%105 500
—Ea 150,00024*25 300
OREp2IY H=
100,000 %5513 500
ORE 22| =5}
100,000 +55413] 500
O&=J| 2H 2el 60,000 %2CH*33] 360
02 222 37,193 18,090 19,103
@On=2=EINPSEFSpl=r=
1,600,000 %122 19,200
OAEE 29 sI|H |FH 2,673
—3= 1,57024%1, 100214 1727
] 1,72024%5502 | E 946
OICT A0IE® Sz 50,0002 12 600
OANEZEY 242 KXYl
600,000 %12 7,200
SI1H Sl 1,700
—Eaif 500,000 * 1CH 500
—2200| 200,000 % 1CH 200
R ICIES 200,000 *5CH 1,000
OZZH| || 2,100




2A:
X{XH -
o /e

cH):

Jl=XJ1
sl (s s - =
ANAsH JISHY

E)

SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
— 330! St=Ee 700,00024*1CH 700
—A3|2H 700,00024*1CH 700
—=224) 700,00024*1CH 700
OIS sANLHEH A=H
155,000 %23 * 12 3,720
206 M=l 4,600 4,600
01 H2HI 4,600 4,600
OAIBE2 ALY 1,200
—SFAZ 15,0004 *60 900
—2HeE S AISHZ 60,000 %53 300
0L, A8, AsE 29 3,400
—EIRE Q| 95
20,0004 105+53] 1,000
—XtJI9Z 10,00021+5Z+53] 250
—Z£87¢ 10,000 x55+52 250
—&ZXMZ=AlE K 10,000 *100m 1,000
—EoI2 OINEE P
20,0002 %9553 900
207 I 39,925 9,925 57,000
03 Al& el 39,925 39,925 0
OXlY=el ASAIE 23,375
—&R7Y 10,0002+ 155102 1,500
—AE MPH E s
25,00021%155+253] 9,375
—=8|2, M3 =
15,000 %5570 5,250
— THOHXHRH 200,000&%10Z 2,000
—ME, DIE S 15,000 +5E+70 L 5,250
O=AZI|E ASAIE 8,550
— THHH XX 300,00024* 155 4,500
—-527¢ 3,0008 55702 1,050
—ZI&d X 200,00024+5Z+33] 3,000
OdtRA B> 700,000 %= 3,500
OEWH2E K 60,0002 *55* 155 4,500
401 Al&HIL20HY] 35,500 50,500 A 15,000
01 Al&H| 35,500 50,500 15,000
OBI2A HILRH(HS 1HS, Ss 2HS)
5,000,0002*3= 15,000
OAISHIRA AlM 22
3,500,0002*3= 10,500
OLSAIE BAZBA 10,000,000 %14l 10,000
405 KHAHE S 22,000 5,000 17,000
01 AL SEF SH 22,000 5,000 17,000
OXA=ANLHEH 2K JI|H 2 22,000




SAM JIEXI2

s (sHHLM/ s - =&
NS JlsHe

U

S - EHH - SR(E) - HRAIR - B ofl e e imE=T
—ADIEZND| 2L
15,000, 00024+ 1CH 15,000
—C=sA2E0] 22 7,000,000 *1CH 7,000
AN AR LALY 50,000 32,380 17,620
207 S1IH | 50,000 31,000 19,000
03 AlEei 2| 50,000 31,000 19,000
O APIHLAIY ASAIE 50,000
—=Jt &BAIE 5,000,000 %100 A 50,000
ADIESYHAEHIE & NSE 2Y 67,077 65,557 1,520
101 QI24H 22,087 21,549 538
04 JIH22XEE 22,087 21,549 538
OHAEHIE =2 22
78,8804 %2 x 100 %13 15,776
OO0z =2THHH
78,8802 x40 *13] 6,311
201 L2 A 21,340 22,048 AT08
01 AF222IHI 500 500 0
OHIAEHIE 2|2 T2t
100, 00024 x2% 200
OAREEZE 10,000&*30& 300
02 222 20,840 21,548 AT08
OABIZEIZ LRz
1,5702+62] E4* 10 A1 2bx 100 +2CH 18,840
ORIOIAIAE & FH| S
200,0002 %105 2,000
207 1IN 10,000 10,000 0
03 Al& & H| 10,000 10,000
O/EE DASEZ LAY 10,000
—ANEE =X, B2 L ARE
10,000, 00024 14! 10,000
301 YstEA 2 2,450 1,960 490
14 JIE2AS 2,450 1,960 490
OADIESUHAEHE NS LAY 2,450
—Jz= 250,000 1AI2H53] 1,250
. N 120,000 *2A| 21453 1,200
401 Al&H| 2 S HY 10,000 10,000 0
01 Al&H] 10,000 10,000
OANIEESYHAEHES ICTSIRA AlA B2AZAt
10,000, 00024 14! 10,000
405 THAHE SH 1,200 1,200
01 AU SEFSY| 1,200 0 1,200
Ouue)| el 1,200,000 *1CH 1,200
KHASHSMEN RS 29 17,151 26,977 19,826
101 @124t 7,101 6,927 174




S JEX¥n
HM: )| (SEHLSM/ =L - 55)
ol XSS IS (CHR: X 2)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
04 JIFRI22ISES 7,101 6,927 174
OXoISIESMEI RS 29 12 7,101
—ALZEI(OIASER, 2AE2, HBRAL )
78,8802+ 12302 2,367
—HIOHE &R 29 78,880%13x30 ! 2,367
—As U HE AESEX
78,8809+ 12x30L 2,367
201 LB 5,250 5,250
01 AF222IHI 2,250 2,250 0
OXIIBHSME 2R TE 1,500
—4HF 20,000&4*205 400
—SHZ 50,0002%105 500
— O 200,000 *37H 600
OEZ2|R HME 5}
150,000 %5513 750
02 2229 3,000 3,000 0
OAEKRXHI(OrIE &R, AR, 2E0A)
1,000,000 %35 3,000
206 THEH] 4,800 4,800 0
01 2HI 4,800 4,800
OgeXIREY 29 1,500
—SMER 20,0002 *40S 800
—o& 5,0002%100%E 500
— KHBH XHRH 50,0002 *4= 200
OHIOIZE R 29 2,500
&R 50,0002 *20% 1,000
—HIZ2, 5% 30,00024+105+53] 1,500
OFMME SXIY 29 800
—TdAS 50,0002%105 500
—HAS 30,0002%10% 300
BNEECE L EEIPIES ERIESEINE)) 386,000 0 386,000
[ 193,000
Al 193,000
402 QI+ RH20|H 386,000 0 386,000
[ 193,000
Al 193,000
02 QIZERF2 A E AR (0| M THS) 386,000 0 386,000
OLXADIER St 84
10,000,0002 * 1555 I+%70/ 100 105,000
[ 52,500
Al 52,500
OANEADNIEY st 4
200,714, 28594 %25 )+x70/ 100 281,000
[ 140,500




A JlEXR D
HE: S| BHL(SY YL/ S
CHol: Xlojsel JIEhe

ul

)

f

S - EHH - SR(E) - HRAIR - B ofl e e imE=T
] Al 140,500
SOHEE L L MAIBAL 27,055 27,055 0
=R 10,855 10,855 0
201 L2 A 89%5 895 0
01 AFRZ2IHI 89%5 895 0
OsAMES D 1K 895
—E2840 60,0002 %6 A*23] 720
—AREE 1,000 %55+35H 175
206 XHEH| 9,000 9,000
01 H2HI 9,000 9,000
O=AME LS ME 9,000
—3l2, RE4, ME S
10,0002 %155%30% 4,500
—uE dslis 15,00024*30Hx103] 4,500
301 YB3 960 960
14 J|EI2 A3 960 960
OZAsY NHE DS LAY 960
-J=z 80,00021% 1A 2H83] 640
—Xi= 40,0002 *1A|2++83] 320
ABI231Z2F FA| 5,200 5,200
201 LB 500 500
01 AF222IHI 500 500 0
ONAIZAZI MRES 5,000 *1007H4 500
206 XHEH] 4,700 4,700 0
01 XHEH] 4,700 4,700
O, 82, && 2 2,000 %1, 000K 2,000
OdAIZ 29 M= 2,7002*1, 0004 2,700
20X AIZ 11,000 11,000 0
307 212+0|& 11,000 11,000
04 QIZFSHAIAIRIE X 11,000 11,000 0
OOHHSIEAIS| (BEE 90%)
11,000,000 14! 11,000
ASEHES MAD |22 S(SEHLM A 5 - 55) 151,351 93,147 58,204
= 20,000
Al 131,351
OFEA THHKD = B2 151,351 93,147 58,204
= 20,000
Al 131,351
A0S J=ES 111,351 53,147 58,204
101 @124t 6,311 6,157 154
M IIHR22IEES 6,311 6,157 154
OR0Z2 ASAEELE = 012
78,8802 x22 %40 6,311




SN JISX
I ASKHS MA)|ISES(SHHLSL/ Y - 5E)
£el: OFEA THHDI= 22 (CHR: X 2)
S - ZE - BRIEH) - MIRAIR - B e e inE=gt
201 2B A 1,950 1,950
01 AFR2t2IHI 1,950 1,950
ORlIZE XE H2 NX 7Y
30,000 *5A 150
ORNZEZ B8 840 U 2+E HIZ
50, 00024 %3H 150
OR0XE AZSEE 29 HE
50,0002 * 155 750
O20=2 AZHE 29 II=H| 900
—AZETE X LML
100,000 *3% 300
—A&SIE O=h| 200,000 *33 600
206 THEH 2,640 2,240 400
01 x24I 2,640 2,240 400
O0Z220F HIOIAA XEHE 7
330,00024+8% 2,640
207 AN 7,000 5,000 2,000
03 AIEe12H| 7,000 5,000 2,000
ORWEZ 4EEE 29 7,000
—Z2 Xl 2
20,0002 * 10553 1,000
—-Z£8 ¢ 20,0002 *55+ 102 1,000
—AE U OIALE 7Y
10,0008 *3Z+20 600
-5 7Y 20,0002+ 10Z+103] 2,000
—IsKH 7L 20,000 %5 =53] 500
—HlZ, g4l 7 10,000 R +25 L %23 500
—2=AlE T 2 3,000 200 ™" 600
—s28 HY ¥ Oi0|Z ¢
4,000 %200 800
307 QI2t0| & 49,000 49,000
02 QIFAAAIRIE R 49,000 0 49,000
OLI| AMEZS B3 ANH(BEE 70%)
12,000, 0002 *55+70/ 100 42,000
OMZ 53 2 HAHE AH(EZE 70%)
10,000,000 *1.0ha*70/ 100 7,000
402 QI2EXH20|H 44,450 37,800 6,650
01 QIZEXHE AL SR (RHHITHR!) 44,450 37,800 6,650
OAl&ZE D2)| HYST AH(EXS 70%)
30,000,00024%0. 5ha*70/ 100 10,500
OiEe REY LR AILMHA AHE(EZE 70%)
35,000,0004*0.4ha*70/ 100 9,800
OA1F SEEHA MG NZEY| AIE(2X8 70%)
2,900,000 *5IH A*70/100 10,150
Odt=Q A9 M2ist J|s AlH(EXS 70%)
20,000,000 * 174 A*70/100 14,000




M JIEXJL

MM ASRS MAD|ETE(SHHY A/ S - 5E)
Chel: OLEE THIDIZ 23 (9] =2)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
B EEIENEICETEEESE) 40,000 0 20,000
2 20,000
Al 20,000
402 G101 40,000 0 40,000
= 20,000
Al 20,000
02 CIZEXHEAIH 2 (0| X THEA) 40,000 0 40,000
ORA AL 2D MADIBE ADIE BAIAE A
80,000, 000210, 5ha 40,000
= 20,000
Al 20,000
N ESE N A (SHHE/sY - 5&) 4,674,951 4,132,333 542,618
= 855,000
= 986,680
Al 2,833,271
Ux ADIE 20| B 4,175,600 3,826,000 349,600
2 85,000
= 986,680
Al 2,333,920
PESTEEE 210,000 252,000 242,000
402 G101 210,000 252,000 242,000
QR ENEEEIPGIED 210,000 252,000 242,000
ODIHE AT CHEE ARDA E& AIAIS
(BXS 70%) 60,000,000 1.5ha*70/ 100 63,000
OMASIA Hel SLAL(2ES 70%)
50,000,0002+0. 6hax70/ 100 21,000
OgxE=20 ©H)| £t B3 =0 22 AlY
(EXE 70%) 50,000,00024*0.6ha*70/ 100 21,000
OZE ADIE 24 A& 23 A (2XE 70%)
15,000,000 *2JH 270/ 100 21,000
OOlAII TS SELAT A (2ES T0%)
30,000, 00024 *4hax70/ 100 84,000
()=z= Halls Lrel X2 1,322,000 1,380,000 258,000
2 661,000
Al 661,000
206 = 1,322,000 1,380,000 258,000
2 661,000
Al 661,000
01 W=b] 1,322,000 1,380,000 58,000
OS2 Hils YRl X
1,322,000, 000& 14! 1,322,000
= 661,000
Al 661,000
()2l sLNH2Y 188,000 188,000 0
= 94,000




2A: Jl=X3n
HE: M ASE Y AND(sEHlYsd/sY - s5)
Sl D MDIS XDI m (crol x121)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
Al 94,000
101 21| 90,673 80,425 10,248
= 45,336
Al 45,337
04 JI2tNI22NSE s 90,673 80,425 10,248
O3J12e| EoliE M AIR2Z JI12HN
2,060,7402* 12482 16,486
= 8,243
Al 8,243
O3J12e| galis A 74,187
—SEHERE 2.060, 740243+ 65,944
= 32,972
Al 32,972
—&SHERE 2,060,740 % 1 H x4 8,243
= 4,121
Al 4,122
201 Br23H| 62,900 47,100 15,800
= 31,450
Al 31,450
01 AtR2elt| 56,900 40,900 16,000
OUEMRPEZE 7
10,0002 *20Z+ 123 2,400
= 1,200
Al 1,200
O3o1&e| gols Xt Xt
850, 000& *4CH*10& 34,000
= 17,000
Al 17,000
O=3J12e| galis olE ni=sul
200,000 %47 9,400
= 4,700
Al 4,700
Oztatd ol & 2H 224 24
8,000 *40H+ 15 4,800
= 2,400
Al 2,400
Ostatd olE L 2H 22X 244
4,000 %40 *30L 4,800
= 2,400
Al 2,400
OsE= & =2 &
1,500,000 *14] 1,500
= 750
Al 750
02 2223H| 6,000 6,200 A200




A JIEXD
I M ASH R A(sEHolesb/sY - s&)
chelr Db ADIE =D HE (Crel: =i
S - ZE - BRIEH) - MIRAIR - B e e inE=gt
O=Jh2e| gz &z S5
100,000 *4CH* 10 4,000
= 2,000
Al 2,000
O=J12e] Eils ol&x A2
500,000 *4CH 2,000
= 1,000
Al 1,000
202 Ot 12,600 6,300 6,300
= 6,300
Al 6,300
ENGE 12,600 6,300 6,300
O=J122|EHE HEYR =2 04
20,0002 #42%x 152 %13 12,600
= 6,300
Al 6,300
206 THEH] 5,827 14,175 A8,348
= 2,914
Al 2,913
01 XH2H] 5,827 14,175 18,348
O=J12e| gais ol 2H M2
5,827,0002* 14! 5,827
= 2,914
Al 2,913
405 KA SH 16,000 40,000 A24,000
= 8,000
Al 8,000
01 AU SEFSY| 16,000 40,000 A24,000
O2ZgHeg 22| 22 7Y
4,000,000 %45 16,000
= 8,000
Al 8,000
(B)sLAD A (ERD35D|=) 200,000 0 200,000
= 100,000
Al 100,000
307 2I2H0| & 40,000 0 40,000
= 20,000
Al 20,000
02 QIFAAAIRIE R 40,000 0 40,000
OUHES &2 B4 QRXUES S5 14
ANE(EL) 40,000,000 x 14l 40,000
= 20,000
Al 20,000
402 QI2EXHE0| & 160,000 0 160,000




2AM:
X{XH -
o /e

cH):

B!
N ASE R AR (SEIoHS
=t

ot== MJl= 20| E

A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
= 80,000
Al 80,000
02 QIEXHE AR (OI A THE) 160,000 0 160,000
OUNES 22 U QRIES S =4
AR (AIE) 160,000,000 %14 160,000
2 80,000
Al 80,000
BEFENEEIEI0ES) 670,600 680,000 9,400
< 201,180
Al 469,420
206 THEH] 670,600 680,000 9,400
[ 201,180
Al 469,420
01 HH2H] 670,600 680,000 9,400
ODBHAE SHABIX] AFRER AFY
670,600,000 x 14! 670,600
[ 201,180
Al 469,420
(D)X ASRAS DTSR (D) (M EALRY) 1,550,000 1,050,000 500,000
< 775,000
Al 775,000
401 AlEHILSTHY| 500,000 0 500,000
[ 250,000
Al 250,000
01 Al&ZH] 493,550 0 493,550
OYFA Z& JHM GUHS 22 I8t =4 493,550
—&2l 500,000,0002%4.3/100 21,500
[ 10,750
Al 10,750
—Al£Hl 500,000,00021%94.41/100 472,080
< 236,025
Al 236,025
02 22l 6,450 0 6,450
OLFALL B2 i GUHSE 23 I8t =4 22l
500,000,0008*1.29/100 6,450
[ 3,225
Al 3,225
402 IFXH20IH 1,050,000 1,050,000 0
< 525,000
Al 525,000
02 QIZFRHE A2 X (01 M TH ) 1,050,000 1,050,000 0
ONMHIZ ZE| ALY AIAEN ZH A
100,000, 0002 * 15ha*70% 1,050,000
[ 525,000




SN JISX
HE: M ASH KL A (SEHLSA/ 5 - 55)
Sl == M= XD A= (che]: X Sl)
SA - FB . EI(BH) - HRAY - BES ol &k e lmE=T
| Al 525,000
(C)ESESUOIANS DERMADBIEN 35,000 0 35,000
[ 10,500
Al 24,500
402 QI2EXH20|H 35,000 0 35,000
[ 10,500
Al 24,500
02 QIZFRF2 A E AR (0| M THS) 35,000 0 35,000
OZ2=90I0I5| DEE MAD|BE ZA A
50,000,000 * 1 JH A*70% 35,000
[ 10,500
Al 24,500
BAER D25 A 499,351 306,333 193,018
ESNEFSISIESET 452 111 256,293 195,818
101 Q124H| 142,322 102,358 39,964
M JIZH2RISES 142,322 102,358 39,964
OMLAEER 29 018 142,322
— Y MEolad o1l
2,080, 74024 x5H+9H = 92,734
—AEo0IE o1l
2,060, 74024 % 1211 22,669
—ERAADBIRFALY QIR (B 22|R)
2,080, 740241 x 1000 20,608
—sH)| SIAIS ool
78,8802 x2 240 6,311
201 B2 A 106,939 48,685 58,254
01 AF222IHI 44,170 10,200 33,970
OMLAIEE Lbte2Y| 11,000
—AHDFEERIE RIE 1,00020%4,000 4,000
—DAIBE oHHRIZS A
50024 1,000 500
— Db THOHSO DSDIH HME
10,0002 * 1005 1,000
—=DLFADILE I HIE
10,0002 %1005 1,000
—MIDILF & T3] &40t JI=
60,0002 %5H 300
—DIAIEZE 2 |
500, 0002 *2JK 1,000
—DAIBE BE D
20,0002 % 100H 2,000
—=20l 222 g0 49 HE
60,0002 * 1074*23] 1,200
OML3IAE SN oI5| BarY
100, 00024+ 10H*13] 1,000
OMLAIEE TI=H| 2,100




2A:
PSE
o /e

Saak

Jl=XJ1

SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
—UAIEE XS ordst
200,000 6%+ 12 1,200
—DSAEE AEA D= (A8, ALEH
150, 0002 6% 124 900
OB NS, 7 H2NE 7
30,00084% 152 450
OArAOIF BB 12 22Xt N 2F 2
9,000,0002% 14! 9,000
OBSAEE AIRSE 712
10,00021%205+53] 1,000
OEU 7Y 200,000 *35| x4 % 2,400
O3t HIZ7Y
30,00020+55* 120 1,800
ORQIZHIAAL & CCTV 224
250,0002* 120K 3,000
OFI|oHE B2 THEH
250,0008* 120K 3,000
O&=D| dEgxz 35,000 %1 CH* 122 420
O4+LEANS| A& IRt
600, 0002 15CH 9,000
02 222l 62,769 38,485 24,284
OZZ2= < MAI(DAIEE) 21,630
— 2 THHHEHE GISAIAE 2(SAR)
30,00021% 10 A*122 360
— DA (I SAAE 2(SAE)
4000002+ 124 4,800
—ANBENE S)I2He3
3,0002%5024 150
—IHAEE =248 &I
300,000 12 3,600
—DAEE &I
1,000,0002 1224 12,000
—UHAEE +E23
60,0002+ 122 720
oo 2| 8,739
—DAEE SIIH RFUH(SHRERI| 2 95)
3,731
A2 1,57021,500 £ 2,355
- Hee 1,72021%800 £ 1,376
—240| KRR
1,57091%200 £ =43 +2CH 2,512
—UAIEE DRE, A Ygy)
1,300 21 %8 Al 2+ 1202 #2CH 2,49%
OAFAM B0 (12 AL
18,000,00024%14] 18,000
OANEZH S| 14,400
—DITHEH BPAIAE QA
250,000 x4 A 1,000




SA: JIEXn
HIM: M ASH WY AR(SAHLSL/ Y - 5F)
gelr weSE 153 I8 (Ctol: ®M2l)
SN B SL(3) - MBAY - BaS Ofl b e MimE=T!
—ADIEE AAE A
1,000,000 * 14! 1,000
-2 |AH(=22 5)
300,000 %122 3,600
—2A2 SAHI(BXHAD|EH
100,000 %122 1,200
—=J1H SXH|I(EYH S)
250,000 % 12Z 3,000
—SZH| RXHI(24D1)
1,000,0002%2E 2,000
—J|IXHH SXHI(E01Z S)
30,00024x20% 600
—ZEAL(2YT 2 7E)
2,000,000 * 14! 2,000
206 M=l 8,000 7,400 600
01 H2HI 8,000 7,400 600
ODSAIBE ZHS 22
20,0002 +55* 10 1,000
ODSABE sI|17 2L
100,00024*10Z 1,000
OM=ABE MAZ2 E5i82 TR 2
1,50024 %25+ 1,000 4 3,000
ODLAIBEE K=K 2L
10,0002 %4 Z+50H 2,000
ODSABZE 24T 2L
10,0002 %5Z20H 1,000
207 A 69,900 54,900 15,000
03 Al&ei7| 69,900 54,900 15,000
OLAEE ABEE 29 33,700
—=% 300,000 *4ha* 153 18,000
—HI2 300,000 *4hax23] 2,400
—UBEXL K 30,00024% 10553 1,500
—A3|, DIERA 6,000 *300 1,800
— B2t 10,0002 *400 % 4,000
—&2d EHIM=E 60,0002 *100E 6,000
OXHHl &S AIE 15,500
—HHNSOE AIE 500,000&4+5 K E 2,500
—0l&a|& THE AlIE
2,000,0002 %2 4,000
— M5 J|EIHY AIE
2,000,0002 %224 4,000
— A ZE D25 AIE
1,000, 0002 %324 3,000
—FEH N2DSH S0 AIE
500,00024*2% 1,000
—HDL NGRS Al
500,00024*2% 1,000




M JIEXJL

I M ASH WY AY(SHHLSA/ Y - SE)
gelr weSE 153 I8 (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
O2E M QSMA (2 722
3,000&4%5,0003= 15,000
Ol MEE 22 Y
5,000,000 * 14! 5,000
ONASEHTAMN ABS 100,000 %7= 700
301 Y2 A S 2,950 2,950
11 BAFAHIXIRZ 1,350 1,350 0
OM20F &, =2 WSO
90,0004x3H*53] 1,350
14 J|EI2 A3 1,600 1,600 0
OAHDt, 220, ZE, XISF JISAMOILE 2ARE
1,600
—Jlz= 150,000 %4 1AI2H13] 600
—Xi= 80,0002 «4Z 2 A 2tx15] 640
— 01| 90,0002 x4%* 12 *13] 360
401 AlEHI 22 0HH 83,000 0 83,000
01 Al&H] 83,000 0 83,000
OS50t AIEE ARES
18,000,000 * 14! 18,000
OMULILRAIL MR
15,000, 00024+ 1A! 15,000
OMLAIEE D T
10,000,000 14! 10,000
OMLAIEE HIZH A
20,000, 00024 x2JH 2 40,000
405 KHAHE SH 39,000 40,000 AT1,000
01 AU SEFSY| 39,000 40,000 AT1,000
ORFEZ283 12 4,000,000 %24l 8,000
O24D| Hi3l, s|d2T g
9,000,000 14! 9,000
OsdHM)| 2l 7,000,000 %1 A! 7,000
OsgH = e 10,000,000 %1 A! 10,000
ozed| 2 5,000,000 %14l 5,000
AFDE THHY S2sta T2 29 31,240 34,040 12,800
201 LBt A 8,740 6,940 1,800
01 AF222IHI 8,740 6,940 1,800
OAt Z2X SARSANS 29 1,340
—uJ M 3,000 x50 +43] 600
—S=0 WA 60,0004 43] 240
—dslE 5,00024+5074 %25 500
OMHIZ At Mot M2IF HAE DK 5,600
—uJ M 3,000 x50 +43] 600
—HHIE AIHMAH2E CIEE) THHHOHS-S HIZ
10,0002 *500 5 5,000




S JEX¥n
HIM: M ASH WY AR(SAHLSL/ Y - 5F)
gelr weSE 153 I8 (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
OXHIZ At A M2IF HAAEl SRSz Kk x|
600, 0002 *3CH 1,800
301 YB3 22,500 26,100 3,600
11 BAFAHIXIRZ2 6,100 5,600 500
OAIDS A 2HAH|
4,0002+50H*103] 2,000
OXHIZ AL} Mt M2T} AAE DK BT SAH]
8,0002*20H*103] 1,600
OXHIZ At A M2IF HLE SXAE DS
25,0002 * 100 2,500
14 DBt A2 16,400 20,500 A4,100
OMHIE AtDH MAF M2DF HAE DK 2ASE
16,400
—Jl2z 250,000 %2 * 1Al 2+x103] 5,000
—x2 120,000 2% *4 A|2+x103] 9,600
—0fsl 90,000 *x2%*12%103] 1,800
AZALDIOI HED235I8HAL X 16,000 16,000
307 212+0|& 16,000 16,000 0
04 QIZFSHAIAIIE X 16,000 16,000 0
OYFAIR! THHHD|E FAS(EES 80%)
20,000,000 * 13]x80/100 16,000
Olis DB EA (S2HY LA/ =2 - &) 1,426,675 1,916,848 A4, 173
= 29,600
Al 1,397,075
MASZIS Jpet . B2 1,426,675 1,916,848 A4, 173
= 29,600
Al 1,397,075
NSASAEE 2 683,480 1,042,688 359,208
101 Q124H] 157,760 61,568 %, 192
VBIENEE S 157,760 61,568 %, 192
NSAZAEE 292X 012
78,8804 %8 x50 %13 157,760
201 LBt A 101,220 71,820 29,400
01 AF222IHI 20,440 13,040 7,400
Ozt o T2k Hi& 400,000 +20= 8,000
Onegle Y 2 200,000 %43]*1CH 800
OMNSRE 1Y 20,0002 x20E+ 123 4,800
OXNSASAIEE 1= 7Y 1,000
—&gs 100,000 R x5 =12 500
—=A5t 100,000 R x5 12 500
O8=+)| dEz 35,0004 <2CH* 122 840
OHs=ay gtz 1,000,000 %53 5,000
02 222 80,780 58,780 22,000
oz MIIe2 1,000,000+ 122 12,000




2A:
X{XH -
o /e

cH):

Jl=XJ1

Dich=sg JIBtEM(sEiLdsd/ 5 - S&)

=
HASHS H - 23

f

HEE

2A - HH - H(SH) - MRAIY - BES Ol &K Ol Aton Hns2
OAZAIBIE HM)|Q2
1,000,000 122 12,000
O34 Held| 3,000,000 %13 3,000
OM=a=Zx ASH| 500,000 %423 4,000
OAld =Xl&eldl 500,000 x> =+ 122 12,000
=J13H |XZ2/
300,000 105+53] 15,000
OAZFIRA G RRHI(FR)
1,5702%4,0002| & 6,280
OsJIH RFH 4,860
&= 1,57021%2, 0002/ 3,140
—32e 1,72024%1,00021 € 1,720
OQIHY AZ2 35,0002 %20 * 122 840
OFIIQHMBIR| HE 2|
300,000 x 12 3,600
OEQHAIAE 22| 2|
300,000 128 3,600
QOCCTV | Xl2t2id] 30,0002« 10CH* 12 3,600
206 TH2H 50,000 50,000 0
01 XHEH] 50,000 50,000 0
OLXASEE 2% W2 P
250,00024+2007K 50,000
207 SN 20,000 20,000
03 A& HI 20,000 0 20,000
O/MPARZ THHSIHE ¢
5,000, 0002 *424 20,000
401 AlEHI 22 0HH 240,000 791,800 551,800
01 Al&H] 240,000 791,800 551,800
OsIIH &1 &X 240,000
—=J|H &D AX| 2AH
220,000,000 x 14! 220,000
—=J|H &D AR ZAF &I
20,000,000 * 14! 20,000
402 QI2EXHE0| & 42,000 63,000 A21,000
01 QIZFRF2 AL E AR (RHRITHS) 42,000 63,000 A21,000
OUAS == J|E ANH(BEXE 70%)
30,000, 0002 *2IH A*70/ 100 42,000
405 KHAHE SH 72,500 4,500 68,000
01 MU 2EFSY| 72,500 4,500 68,000
O=sgs Eay 7Y 60,000,000 %1CH 60,000
Ogsxe 43| 2
9,000, 00024 1CH 9,000
OmMI| Y 3,500,000+ 1CH 3,500
HIOIQMIE 29 674,795 734,160 159,365
101 Q1244 166,595 76,960 89,635




$M:M§ﬂ%m
M D= DB RS (SHENYT A sY - 55)
=gk Mﬁ:’“E e - == (Ctol:®2l)
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
04 JIZHHI22XSE 166,595 76,960 89,635
OHI0|4IE 2HEX o2
78,8804 x8%Hx0p4 166,595
201 L2 217,200 119,300 97,900
01 AFR2t2IH| 6,200 4,300 1,900
Oggm & 22 M 300,000 *10= 3,000
OXZBE EH 7Y 200,000 * 1CH*43] 800
OAREE1Y 10,000 *20=% 123 2,400
02 2229 211,000 115,000 96,000
OHIOIRHMIE &I|R2
5,000,0002x 122 60,000
Ozstal MRS 5,000,000 122 60,000
OZdstza MIIRa 3,000,000 %122 36,000
OAZ GI2A JIA L
1,25021%2, 400kg+6 0 = 18,000
OAB A S22l
300,000 *10Z+33 9,000
OAlE=XI2teldl 500, 0002 +2=*123] 12,000
OstRAS X2l
1,000,000 x4 S+43] 16,000
206 XHEH| 80,000 80,000 0
01 TH2H] 80,000 80,000
ORER Mot 27
8,000,000 x103] 80,000
207 SN 50,000 50,000
03 A& HI 50,000 50,000 0
ORER 8% M2 ASAE 50,000
—NSHSAS 4,000,000 +5% =2 20,000
—2HO HHEE He A
10,000,00024+35|* 152 30,000
301 YB3 10,000 120,000 A110,000
14 DBt A2 10,000 120,000 A110,000
OBAE Z2 L0243
10,0002 *1,000kg 10,000
401 AlEH| 22 OHH 105,000 267,000 A162,000
01 Al&H] 105,000 267,000 A162,000
OXZHIE Al B2 50,000
—ZEHHLAIL THHH BIS &R
40,000,000 * 14! 40,000
—oIRA 24 &X) 10,000,000 %1 A! 10,000
ORUED MALZ HIJIE 5I2A AX| 55,000
—HIJt2 SIRALR ZAt
50,000,000 * 14! 50,000
—HIJt2 SIRAMX ZAF &
5,000,000 14! 5,000




A JIEXAL
¥ Oihsg Jexd(sgaledsd/sd - 5&)
cHel AASHS OHE - 22 (St M 2l)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
402 2I2HXHE201 ™ 7,000 7,000
01 QIZEXFE A E (XM THR) 7,000 7,000
ORER NS Mt S AH(EXE 70%)
5,000, 0008271 A+70/100 7,000
405 AHAHE SHI 39,000 13,900 25,100
01 ML =ZFSHI 39,000 13,900 25,100
OAEHIX Z&D| 7Y
12,000, 0002 *1CH 12,000
OodtRA e 2 27,000,000 % 14! 27,000
(D) SEEA 2 A2 (XA 18,400 0 18,400
= 4,600
Al 13,800
206 M= Hl 13,400 0 13,400
= 3,350
Al 10,050
01 =4l 13,400 0 13,400
OZHHSD M4 HEAL
2,680,000&+53] 13,400
= 3,350
Al 10,050
405 At S| 5,000 0 5,000
= 1,250
Al 3,750
01 AL ESFISHI 5,000 0 5,000
Oalg Al 2 5,000,000 %14 5,000
= 1,250
Al 3,750
(R)AESHHAEHE DS 50,000 0 50,000
= 25,000
Al 25,000
401 AlZHIZL R 0HY| 50,000 0 50,000
= 25,000
Al 25,000
01 Al&H] 50,000 0 50,000
OADIERHIS SR 50,000, 0002 * 1Al 50,000
= 25,000
Al 25,000
SHAIDE 2o (23t Y2t/ 2at 22 t) 593,566 375,141 218,425
SHALS2 2 593,566 375,141 218,425
SHA st 22| =29 373,597 280,918 92,679
101 el24d| 57,504 35,325 22,179
04 JI2HN22MHSE+ 57,504 35,325 22,179




M JIEXJL
st

HIM: ZHHDSZ PE(2FL Y/ 25 2Lt
el SAAE2 23 CEEEN
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
Onstat 2 Hiorse 2 EH| o8
78,8804 %3 %243 57,504
201 L2 A 172,991 142,991 30,000
01 AF222IHI 59, 160 34,160 25,000
OZMIH st ANEA Y|
2,300,000 x 12 27,600
OF=D| 22| A
35,0002 %4 CHx 122 1,680
O2Y2 (3| EAlnEt
70,0004+ 13H*23] 1,820
O299235| &4 o]
90,0002 %13H 23] 2,340
OCHHHIAT HIXIE deRs=EE
20,0002 x35* 122 720
OZMNAH IS 2123 L =X RIZ
10,000,000 13 10,000
OSEEAIA 0|5 & &X| =22
15,000,0002* 13 15,000
02 222 9,831 9,831 0
omMIIR2 3,000,000 %122 36,000
Outstas Q2 400,000 %122 4,800
OB 50,00021% 122 600
OCIHY! AlEBZ 33,000 *3H* 12 1,188
Oltsr2tgdsl Ayl 300,0002%13] 300
OABIOHEE 5| (13| 100,000 *13] 100
OFI|orE e 2oy 700,000 * 122 8,400
OAgorBip| 2o 200,000 * 122 2,400
OEQHAIAEIZIR| 82H|
250,000 % 12 3,000
ORI =T 2el o]
100,000 *3CH* 122 3,600
OM$Z HA 2|
800,000 x2IH A#23 3,200
O%Z Al =2 80,000 83 640
Ol BIIE &F 22
500, 0002 %23 1,000
OFA AS 222
140R1%2,895M %25 x 122 9,728
QY| 22| S| 120,000 % 12CH 1,440
OWLE)| M= 5,800
—HHE N 150,000 % 12CH 1,800
—HEHES ZH ni
50,0002 %4 JH20CH 4,000
occTv22l SXIHI 100,000 % 15CH+23] 3,000
OJIEt AISEHI22| X
4,000,000 % 14! 4,000




S JEX¥n
HIM: ZHHDSZ PE(2FL Y/ 25 2Lt
chel: SNHDER 29 (cHol: x2)
SN B SL(3) - MBAY - BaS Ofl b e MimE=T!
OFAlA FAEH22] S|
1,000,00024%33] 3,000
OsJ1H |34 1,8102%50 £ *303] 2,715
OUWFII8 K=l 1,92024%20 ¢ %503] 1,920
03 BALS | 17,000 12,000 5,000
Oltetzstual izl 17,000,000 %1 A! 17,000
206 = 12,702 25,702 13,000
01 XH2H] 12,702 25,702 13,000
OFII, JIHEH ARE ¢
200,000+ 105+13] 2,000
OYSFHLM UM 2
50,0002 * 10563 3,000
OEAIA JIXHH 2 3,000,000 %14l 3,000
OF AR HAT3 7
30,0002 %5553 750
OZE3HA & 7Y
40,0002 +58F A% 128 2,400
OFATIEE ¢
10,0002 %105+ 103 1,000
OMYD| B2 25(1004 )2
1,840 %25t 122 552
301 YB3 1,050 2,100 1,050
11 BAFAHIXIRZ2 1,050 2,100 1,050
OEr25t Al AR S|
7,0002150H*13] 1,050
401 Al&H| 2L S| 129,350 73,800 55,550
01 Al&H] 129,350 73,800 55,550
OZNAH L2 S0INHE =522 nH 2 42
45,0002 5004 22,500
OZNH e HIOI2Y HIEE
3,000, 000463 18,000
OHIOIRL Hi2 g &x & 84
45,0002 %707H 3,150
OHIOI2Y U2 HE DH
40,00024+507H 2,000
OHIOI2Y &2 I&
36,000,0002* 14! 36,000
OZNIH DB D4+ SHBAL
13,000,000 * 14! 13,000
OZNHLE S HIHESE B2
34,000,0002* 14! 34,000
OCCTV It X 700,000 % 14! 700
ZMHDE2 T2 2 58,409 38,471 19,938
101 @124t 14,909 18,471 3,562
VSIENIEEI S 14,909 18,471 A3,562




S JlEXen
HIM: ZHHDSZ PE(2FL Y/ 25 2Lt
el SAAE2 23 CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
OS2 Al Z20 29 0189
78,8802 %1% 1892 14,909
206 XHEH| 30,000 20,000 10,000
01 XH2H] 30,000 20,000 10,000
OXME DA X 7
300,0002 %1003 30,000
301 YEHEAS 13,500 13,500
14 J|EtE A 13,500 0 13,500
OME T2 2AF 2 13,500
—JI2g 60,0002 +3%H* 1Al 2++503] 9,000
—xn2 30,0002 *3F*1AI2H503] 4,500
ADIEER 2R2Y 161,560 55,752 105,808
201 L2 A 61,360 27,360 34,000
01 AFR22IHI 34,000 0 34,000
OAIERZ AR FARIZ 1Y
40,00021%1007H 4,000
OAMUELZ EL2HY S ME
30,000,000 %13] 30,000
02 2229 27,360 27,360 0
erSplier= 1,000,000+ 122 12,000
OasteEe2 200,0002 % 12 2,400
O&I|etE e 9| 200,000 %12 2,400
OALIOIM 2| 29| 180,000 * 12 2,160
OBQHA|AEIZR| 29|
200,000 128 2,400
OAAZH| SXId 6,000
—2e 500,000 %43 2,000
—HAl Qa2 2 XY 500,000 %43 2,000
—JIEIAIE(HD], 25 S)
500,000 %43 2,000
401 AlEHI 2L 20 100,200 10,000 90,200
01 Al&H] 100,200 10,000 90,200
OMIEBZ HZY 48X S 2AHXA
20,000,000 * 14! 20,000
OAMDEL S 22 ZA
30,000,000 %14l 30,000
OMDESZ FAIZ DA L 22|
30,000,000 %14l 30,000
OAMDES T Hi2 &X
13,000,000 * 14! 13,000
OAMELR = 231 24
7,200,000 % 14! 7,200
A SHAY|(DISXIKD) (DIEHIIE}) 133,976 127,638 6,338
J|=ZH| 133,976 127,638 6,338
J|=ZH| 133,976 127,638 6,338




2AM:
X{XH -
o /e

cH):

Jl=XJ1

HAESHYAH| (=X (JIEHIIE

Jl=3H|

HEE

2A - HH - H(SH) - MRAIY - BES Ol &K Ol AFol Hns2
201 2B A 36,8% 31,758 5,138
01 AFR2t2IHI 36,8% 31,758 5,138
OsSAMEX 7 20,0002 %23 Ax 122 5,520
OE20HAH| 8,000 *7 A %238 % 122 15,456
Ogetez2 100,000 * 12 1,200
OLA2 TAZLLI 50,000 %122 600
OATRE 4 11,360
—ZAD(UE) 22l
1,000,000+ 1.5CH 1,500
—Z2IED| £=2d] 100, 0002 x6CH*50% 300
—=ADI EH 200,000 %53/ x1.5CH 1,500
—T2IE EL(SH)
200,000 %53 *6CH 6,000
—TRIE EU(Z)
200,000 %53+ 1CH 1,000
—PC==cl 100, 00024 +23CH*20% 460
—JIE 22/t] 50,00021* 12 600
OJIEF AFR2t2IH| 10,0002 +23%H 122 2,760
202 09H| 91,080 91,080 0
01 2LH0IH 91,080 91,080 0
OJ|&X¥Y ALEX o 91,080
—2HLH0AH 20,0002 %232 * 122« 128 66,240
— 22|04t 120,000 2 2329 24,840
203 YR=ZIH| 4,800 4,800 0
04 EASAASFTIH| 4,800 4,800 0
ORAN2LLREZH| (D&KL
400,0002 %122 4,800
204 XA 1,200 0 1,200
01 NP HSHAY| 1,200 0 1,200
OAHIALAHAY| (=X E)
100,000+ 12122 1,200




